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Run 5067 quartetwise, posHQ: Beam DH

Run 5067 quartetwise, asym0Osub: Beam ON

— Laser ON Entries: 3337 Entries: 574 aom1_1ac0. packo
- Mean: 20,0770 +- 0.0138 Mean: 6.2856 «- 0.0102 574
B Laser OFF Std Dev: 0.7970 +- 0.0098 | Std Dev: 0.2435 +- 0.0072 6.286
- smoey  0.2435
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6 B 10 12 14 16 18 20 22

— Laser ON Entries: 3337 Entries: 574
- Mean: -31.3927 +- 0.4104 | Mean: -0.0278 +- 0.4704

— Laser OFF Std Dev: 237060 +- 0.2002 | Std Dev: 11.4867 +- 0.3300
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Run 5067 quartetwise, negHO: Beam DIN

— —— Laser ON Entries: 3337 Entries: 574 aomi._lach._nagha
= Mean: 20,9712 +/- 00146 Mean: 52864 +- 00107 574
B — Laser OFF Std Dey: 0LB436 +- 0.0103 | Std Dev: 02566 +/- 0.0076 6.286
. oo 0.2566
jﬁ\h 1 | 1 1 1 | | I | | | I | | | I | | | I | | | | | I | | | I i | ..l
6 B 10 12 14 16 18 20 22 24
-------- Histogram Vars

Positive Hel (ON): 20.077047 +/- 0.013796
Negative Hel (ON): 20.971208 +/- 0.014604
Positive Hel (OFF): 6.285597 +/- 0.010163
Negative Hel (OFF): 6.286388 +/- 0.010709
-------- Sums and Diffs

On Diff: -0.894161 +/- 0.011696

Off Diff: -0.000791 +/- 0.013653
On Sum: 41.048255 +/- 0.025893
Off Sum: 12.571986 +/- 0.015797
-------- Asymmetries
On Asym: -31.400222 +/- -0.412081 (ppt)
Off Asym: -0.027770 +/- -0.479447 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 28.476269 +/- 0.030332
BkSub Asym: -31.372451 +/- 0.632203 (ppt)
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Run 5067 quartetwise, posHO vs time
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Run 5067 quartetwise, asymQOsub vs time
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Run 5067 quartetwise, negHO0 vs time
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